A. Reste rovnice:

2

Ly =yl T,y =

2.y =1—y? 8. y'sinx =ylny

3.y = (3/2)9/y 9. ¢y =Vy?

4.y =I=42 10. ¥ = exp(—(z +y))
5. (22 —4x)y' +y =0 11. ygy_ll + 75 =0

6. 3y = 3x%y? 12. o = 3Yy%expa

B. Reste rovnice:

L. (2% +y?)y = 2xy 4. (22 — )y = 2xy
2. y? + 2%y = zyy
3. vy +y =2y*/x 5. y/:%

C. Reste rovnice:

1. ¥ +y =sinxexp(—z) 4.y —y/x =2 expux
2. 23y —ay=1 5.y 4+ ay = exp fx
3. 2y +(1+x)y =expx 6. v+ 5y = x(x21+1)

D. Reste rovnice:

1. xy —dy = 2>y 3. vy +y=ay’lnz
2.y = garty —ay =0 4z —y’+2ayy =0



